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2A:

g A3 =
Sl HE IS N =t (SH9 H2)
A -3 - SRA(3H) - HRAE - BES Ofl &4 I3 A Husz
OR8Ee=s 11,080 13,080 2,000
—*ETY 5,000 7,000 2,000
JIE= 2l 38,500 46,500 8,000
201 ZBt=3hl 38,500 46,500 8,000
02 33234l 35,000 43,000 8,000
OBZEIISHCIAIAE 22 35,000 43,000 8,000
HAE SH2C 35,322 39,322 24,000
101 el24H| 18,522 21,522 3,000
04 1N =22 ASE S 18,522 21,5622 3,000
OSHZAL AAHI(MEHZAL S) 18,522 21,522 23,000
—Z AR 9,326 12,326 3,000
201 Zet=3hl 16,800 17,800 1,000
01 AlR22telHl 16,800 17,800 A1,000
OSAHAEAN MRES 7Y S 2,000 3,000 A1,000
LI2tAE Ei=01 €01 34,000 44,000 10,000
201 LBt 34,000 44,000 10,000
01 Al 2telHl 34,000 44,000 10,000
OHI=21 el 16,000 26,000 10,000
=20 WH(3ZE,29) 11,000 16,000 5,000
—IJI2J1 AN 72l 5,000 10,000 5,000
2| NYEI| =4 2,064,294 2,127,601 163,307
SH=X BT 1,752,946 1,833,250 80,304
201 ZB=EYI 1,751,946 1,832,250 80,304
01 AlR2telHl 263,6% 264,000 A304
OXE AEdA X+=E € dlde X2 21,6% 22,000 304
04 SIEE=SAN A 1,426,400 1,506,400 80,000
OX&s =SXHE 2% 1,426,400 1,506,400 80,000
IRHMZZ2X 23 2l 197,368 180,371 16,997
101 el 197,368 180,371 16,997
04 I M =22 ASE+ 197,368 180,371 16,997
OLE2Ez fE=
5,172,000,000& %1.75% 90,510 80,500 10,010
Ot A2 & EE FE=
5,580,000,000& *0. %% 50,220 43,200 7,020
O=0ALEES 216,000,000& *3.545% 7,658 7,689 A3
OFIIQAEES 15,300, 0002 *6. 405% 980 982 N2
SEXN0 dIJL5 S 1,577,975 1,611,512 N33,537
TAAIAE X2 1,333,579 1,367,116 N33,537
201 ZBt=Ehl 205,147 323,982 N28,835
01 AlR2telH] 114,530 115,840 A1,310
OHFYRE 2ZERN 7 72,990 74,300 A1,310
2 33234l 180,617 208, 142 N27,525
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A HEX2
M HHTR ALt
&®H?l: s=H0 HHHLZS 2F (CH9: &S1)
SA - BE - SRI(BH) - MRAR - BaS ol &t o H o HIDS2
Oz S EUO0IX 72+ 29,852 33,583 A\B,736
—29g o= =A2el
36,000,000 * 141 %8% 2,880 6,654 N3,774
—29 AZEQIN sX2el
93,000,000 *141%12% 11,160 14,102 N2,942
—S& SHO0IX 29 22
118,000, 000!+ 141%13. 4% 15,812 17,832 22,020
ONelEE AZEHE |2
21,200, 0002 *8% 1,69 1,919 N223
ORFHNAEX 72
70,000, 0002 *6% 4,200 4,740 2540
ONLHEFHEY 224
78,000, 0002 *8% 6,240 7,072 A8
OHEALRIX RAEx 47,800,000 8% 3,824 4,336 AB12
OBHALIX 22 92,500, 0002 8% 7,400 8,400 21,000
OB LAIAL ST B+
54,500,000 #8% 4,360 4,920 2560
O2LI2tAIAE FXIE4=(HN,08,JIEIHES)
304,800, 0002 *10% 30,480 34,519 14,039
OgRE ZRH |NES
17,0002 %1, 130CH 19,210 21,470 N2,260
ON&N & MIHSE T2 RAES
23,000, 0002 *% 2,070 2,317 avlivg
O EEE S IS 2N A K2
85,500, 0002 8% 6,840 7,760 A920
ORHAHUAAY SXIE
155,000,000 *8% 12,400 14,080 1,680
ONEEFEXNHAAY B2
33,500, 0002 *%% 3,465 3,8% 2430
OXsgegiisdtl sAE+
72,500,000 8% 5,800 6,583 NT83
OSeEorae| () AASE |FXE+
112,500, 0002 7% 7,875 8,946 1,071
OUEHILSSEEl S22
136,000, 0002 7% 9,520 10,817 n1,297
OSMZ2|AAE SXE(BAIEE ZE)
31,000, 0002 *12% 3,720 4,210 A490
OFotHordE HA £24E |XE4(541)
2,700, 0002 *541%12% 1,620 1,800 A180
OUERIAEZMAAAE RAIEs
65,900, 0002 *%% 5,931 6,756 N\825
O&EZHA & IHARAS 2 AAE RXES
43,100, 0002 *P% 4,329 4,914 /585
OBZIIAMMZIAAE XS4
26,500,000 *P% 2,385 2,700 A315
207 AN 12,200 13,200 21,000
02 MARDHLHI 12,200 13,200 21,000
OZHIOIXl BLSS &2 N3 12,200 13,200 21,000




SA SHEXR DL
3 HFNF F&Lst
ol X dFFES (SH9 H2)
SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
308 XXM SOIH 118,510 119,212 AT02
11 SIS0t oA AS A 118,510 119,212 AT02
O2LICHAIAE A H 2 X3 21,041 21,050 A9
OAZRAEEEMMEH RX2e] 90,869 91,562 NGt
405 THHF S 428,500 431,500 23,000
01 Tt =S F=HI 428,500 431,500 23,000
OLSMAZ oAl WH 7 140,450 143,450 23,000
— gt uHd FY
34,500,000& » 14 34,500 36,000 21,500
—2LICtAIAE MWAIH] wH 7
20,500,000 *14] 20,500 22,000 21,500
nAAS LAy 2 207,520 226,870 19,350
= 36,070 36,070 0
= 171,450 190,800 19,350
QIAMHIA A =Y 207,520 226,870 19,350
= 36,070 36,070 0
= 171,450 190,800 19,350
FRANSY SAE 11,447 17,597 26,150
201 eer23| 10,447 16,397 15,950
01 AtR2t2l] 10,447 16,397 A5,950
ORl2gEsRa gefds & Zus 5,000 10,000 5,000
Ol A4l F0I 0 550 2550
oclzug 7Y 0 400 2400
303 Za=2 1,000 1,200 2200
01 Z&Z 1,000 1,200 2200
Oulgxel OtgelNNE2E =323 Al 1,000 1,200 2200
gEd 29 130,003 143,203 113,200
401 AlEHIYL S THYI 50,000 80,000 30,000
01 Al&HI 50,000 80,000 230,000
OulgE7 Rl &X 50,000 80,000 230,000
405 AHAHESH 25,200 8,400 16,800
01 TR ESF SHI 25,200 8,400 16,800
Otlzs 28| 1,200,000 * 1474 16,800 0 16,800
AR gyl X3 10,000 10,000 0
= 10,000 10,000 0
201 ¢Bt2] 7,000 9,000 2,000
= 7,000 9,000 £2,000
01 AtR2tel] 7,000 9,000 2,000
ooz ze| RFIU(EHLARESS) 5,500 6,000 2500
= 5,500 6,000 2500
O3zl PRFN S| 1,500 1,000 500
= 1,500 1,000 500




FA HEXE
g DAAs IAYE 7
el QIRANHIA #HE S (Gt H2)
SA - BB - SRA(3) - MRAY - BES 0l Ao ol E o timE=FT
OodegXt 2R=(4ate]) 0 2,000 2,000
= 0 2,000 A2,000
406 XHAHR SHI 2,000 0 2,000
= 2,000 0 2,000
01 AL =S FH S 2,000 0 2,000
Oolzze| g2 3l 2 2,000 0 2,000
= 2,000 0 2,000
WL =#F 3,240,381 2,840,381 400,000
[as 36,000 36,000 0
= 610,400 410,400 200,000
= 2,593,981 2,393,981 200,000
NS A 3,240,381 2,840,381 400,000
Fas 36,000 36,000 0
< 610,400 410,400 200,000
z 2,593,981 2,393,981 200,000
SERS JIEMFE HAFAE ZgAg 400,000 0 400,000
= 200,000 0 200,000
= 200,000 0 200,000
401 AlZHIZL S CHY] 400,000 0 400,000
T 200,000 0 200,000
[ 200,000 0 200,000
01 A2 400,000 0 400,000
SERS IIEMFE AFAE ZgA(
4E84d) 400,000,000 400,000 0 400,000
& 200,000 0 200,000
i 200,000 0 200,000
WLES (A2 1,332 0 1,332
L=FSONE 1,332 0 1,332
2xsgret 1,332 0 1,332
802 Bret=JIEr 1,332 0 1,332
01 =nEx3EeEs 1,332 0 1,332
O202E JFEZAHAT Z1N2X3 TN 1,332 0 1,332
AY2HZH (LI X2 ) 16,080,999 16,069,432 21,567
eIg 23l 16,007,499 15,985,932 21,567
SHCIAHIN 1523 12,038,763 12,036,820 1,943
34 H=FESS 11,903,658 11,901,715 1,943
2 2UAHSEE= 1,649,967 1,648,024 1,943
O=2AAEs=
41,340,000,0002 +3.545% 1,465,503 1,467,900 N2,397
OWLEES 2,880,000,0002 +6.405% 184,464 180,124 4,340
SR AH=F 1,622,764 1,608,140 19,624
U ASFEHSS 1,622,764 1,603,140 19,624
04 SRH(PIHL) 22X 2EE2FES S 1,622,764 1,603,140 19,624
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